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which Is the major product Of TS Fuertons~—-

heat
i‘:’é + H2S04 T
H)Q' b) Q“ c) Q—
2 = T
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What is the IVPAC name of This molecwi—r

-!CH! Ei}l"'-'-" . Lrama-ﬂ-mej‘hdj'cﬁpg;
Hsc—7&—CH,—E=CHa
OH

a) 4-hrmnu-z-hydroxy-z-melhylpenlune
) dqﬂnlhyl-:.’—brnmnpentmnd-ul
@4—brnmu-2-mnthyl-l-pnnten-z-ol

d) 4-bromo-1,1-dimethyl-1-butanol

o) 2-bromo-4-methyl-1-penten-4-ol
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which reagent will accomplish the following?

r
(o et (-
i'a[*\)ﬁhﬁ“--—" kd—unc
3) PBra
b) SOCI»
C) CrOa/ H*
d) H>SO4/ heat
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By what mechanism Is the major
product of this reaction formed?

éHzBI"
KCN what
- mechanism 7
IR+ CN = SN2
[2) Sn2 b) Sy1 c) E1
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what are the products of the f

ollowing reaction?

OH
a) Ofm + Clly=CTl; +

m[:j]’

c)

-y

Br
o

4+ CILCHLON

]
+ CHLCI Br

d) U OH  cnenon

Br
) Ol + CHL,CIL,Br
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which reagent would achleve
the following tranaformation?@

H,C OoH
H O 4 77 Ap—
?"_f S H-.C CH,
H;c CHJ )

a) NaOH then H,0 b) CH,CO,H EICH,OH/ H*

d) Na then CH,CI e) H,0/ H*
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he following is the strongest acid? phepol 5 alcohel

__l_______________.--—"'"_"‘"—'
Which of t il
H
H R
a Cl CHy
a) 1@ c)
' CH,
H
e) |
[ |
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Which reaction glves the Indicated product as major one?

Na
i) 4 o 0 NaCl
@ 2°RX + RS *E2

CH, CH,
Br NaNH> = NH, * NaBr

OM ONn
& Ou . NaoOH = O’ + H,0
Or
o O NaSH o O + NanBr+ H,S
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Which compound yield
halide fastest upon rea

s an alkyl
ction with HCI? 395205 °
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What would thia reaction yield?
1) Mg tether

ar "-’: \ OCH, - ->
S 2) H,0/ H*
e I )
i > Hfﬂj-@—fJCH? 1"-'::" - H @_g:ﬂ;
v N _a ,CO -
) P—"
’ n
M, CO . " m—{" OM
- rn
a)l only D)« 1N )t anly
d) IV only o)1V
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Which halide is most recctive In Su? reoctions?
'_ amdhy 5745 2¢
ail CHICH>CH2CH B (15

b) m:@d.ﬁ-«g«, 5o
<) Cl-lgmlg:’cn,g,.@ 7

o) CHACH CH= CHB
Hay

e) CHy— Br
Hy
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Which Iz the bext synthetic route
of r-butyl chloride?

) CHL,CH,OH,CHLOM * Cly e
’l) CH‘CHICH.CH‘OH > KCl ——

D) CHLCHLCHLCH,O14 » He) ZNCL_

'V) CH\CH*C“'"CH’OH = B0CH ——a=

a) T only b) IT and 11X c)|IXXI aond IV
3) I ond 1V <) IIXI only
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RONo + JRY

Wnich s the best syntheals of Cyclopenty! ethy! ethaer?

a) Q<°H ® MM M*
s . hent

OMN® o
E‘-\ * CH“TH-ONM

oM Mot
[’\ * CHYyCH-OMH a—
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Which reagent would achleve
the following tranaformation?

CTITN ——- (7Y

= AT At C o.on ) € oM
e < HO,C
1 o
=) c on -) G O
c
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Which -lcohol(-
with CrOy/ H*.. 7o) 2°

H,C ou H /cu,ou M oM

)- CH,
DD &
S Cr,
@ @ v
a)l and v (Eﬂl andg In C) IV only
o) Honly o) | only
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. *ﬂﬁrﬂn

’IPfaJHr.\...!I
(-h
mmmmmﬂmdﬂﬂ'mm"
' KCHN
HsC—C le—-cu, (28,9R) ———
¢n C

xc) two optically active diastercomerns
d) an optically inactive meso formn
Le) two optically inactive diastereomers
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Which compound(s) would NOT react with
sodium rrmtpnl (Na) or with sodium hydroxide?

sho e

I1 111

a) lonly b) Il only c) Il only

d) landll e) Iland Il
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Which of the followling Is weakest nucleophlle?

(ntomlc No. C=6; N=7; O=8; F=9 ; $S=16)

&

a) Hg- 4- l
5
b) CH,0O" c M ~ |
N > L |
C) CH3§' 5. \HI
d) CN- T
e) F-
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